FREZEBILER

EHES 18-19—
ERBEaE NMNHAEER
EHE -8B RE| ERSEL - ZBER
L EEBER

ZEEH 0E

FEERS

FHIER

FHER

B oo




BHHEENRE SHAEE RSB RY BINELEH
2 o] 1| - R Bif i ¢ = % =
EIZEHEE 9,154,524
REE 536, 940
REE 536, 940
REE 536, 940
REE 536, 940
1-1 AE#ER 1.00 440, 966 440, 966
=y
1-2 HEHHE M 1.00 95,974 95,974
=
BEEZRVVIRE 8, 570, 566
BEEZRVVIRE 7,966, 934
T KAGLERBZF D 1 1, 808, 756
T KAGLERBZF D 1 1, 808, 756
1-3 BB HEZE 10. 00 29, 451 294,510
1-4 KfstE 6. 00 7,299 43,794
1-5 JKAIER A 16. 00 24, 409 390, 544
1-6 st (1) 16. 00 26,178 418, 848
1-7 KEEEBBAERDEE 1.00 403, 966 403, 966
=
1-8 EBIHEE IKGLET 10. 00 21, 330 213, 300
1-9 KELEHRE 6.00 7,299 43,794




B EERNRE SMMEERESERE RN EINELY

mEEA 3,514, 640
mEEA 3,514, 640
1-10 BEEHE (1) 14538 22.00 17,452 383, 944
-1 BEFHEHE 2 T =1/ 12.00 14, 653 175, 836
1-12 REERRI (1) 3[E 13.00 42,530 552, 890
1-13 REER (2) E 12.00 19, 362 232, 344
1-14 RFEEE (3) 3[E+5fE 9.00 91, 898 827,082
1-15 BESRABREOERE() 1.00 428, 686 428, 686

|
1-16 BESRAFREDERE (2) 1.00 229, 690 229, 690

|
1-17 g8RFHEE (D) BEER 22.00 21,330 469, 260
1-18 #RIFHEE (2 BEE 12.00 17,909 214,908
T KGEERZD 2 1,120, 958
T KGEERZD 2 1,120, 958
1-19 K4z - BREER K -0 2R 5.00 132,588 662, 940
1-20 =% (2) 5.00 26,178 130, 890
1-21 KeEL - BEHAGEROEE 1.00 327,128 327,128

|
A ER A 783,032
A ER A 783,032




BHHEENRE SHAEE RSB RY BINELEH
1-22 SR ERRE - BE 1.00 429, 854 429, 854
=
1-23 B SRERRE 15. 00 10, 428 156, 420
B
1-24 =% (3) 1.00 26,178 26,178
1-25 SR EHER 15. 00 10, 675 160, 125
B
1-26 EE S RERER 1.00 10, 455 10, 455
=
ErmER = 165, 502
ErmR = 165, 502
1-27 BrE A= 1.40 58, 966 82, 552
km
1-28 $ERDEIE 14.00 5,925 82, 950
HEE
BHAUERE 437,527
BHUEBERE 437,527
1-29 BHAuBHREE 0.50 479, 740 239, 870
km
1-30 BHEUBERERKROEE 1.00 197, 657 197, 657
=
ik (1) 136,519
ik (1) 93,019
1-31 i (1) 5.00 14,712 73, 560
1-32 HEHEMK 1.00 19, 459 19, 459
K

o

43,

500




BHHEENRE SHAEE RSB RY BINELEH

1-33 EEH# (1) 1.00 43, 500 43,500

=
KEHRAE 361, 447
KEHRAE 361, 447
KEHRAE 128,785
1-34 $££K 6. 00 18, 221 109, 326

Hh =
1-35 FHFHEHK 1.00 19, 459 19, 459

=
AT 232, 662
1-36 D ATEER 1.00 232, 662 232, 662

=
EEHAE 242,185
EEHAE 242,185
EEHAE 128,785
1-37 #£iE (2) 6. 00 18, 221 109, 326

=
1-38 FHFHEHK 1.00 19, 459 19, 459

=
AT 113, 400
1-39 EE S (2) 1.00 113, 400 113, 400

=
BE 3] 47,018
BE 3] 47,018
EEREE 47,018




AHIBENRE RMAEEREEEEFRERLEBEES
R # 47,018
1-40 HR&E (FRETEHELMN) 1.00 47,018 47,018
E &R : 2,426, 245
BEM@NE 2,399, 245
BIRMRAT 1,654, 652
BIRMRAT 1,654, 652
BIRMRAT 1,654, 652
2-1 BET— 2 DINEEE 1.00 451, 552 451, 552

Ea

2-2 REHR OB 1.00 1,203,100 1,203, 100
=AY VURERHBEORE : 342,693
T4 UURERHBEORE 342,693
T4 UURERHBEORE 342,693
2-3 =4 ) VU REHBEO®RE 1.00 342,693 342, 693
RR : 401, 900
RR 401, 900
RR 401, 900
2-4 |ESER 1.00 401, 900 401, 900
HERE : 27,000




BHFEERRE SHUEEEESBERRLBRREEE
EEREH 27,000
EERE 27,000
R 27,000
2-5 RBARM 1.00 27,000 27,000
"




BHEERER SHAEE RSB RY BINELEH

% g R - KSR Bifr B 2 B i & B W =
EEAEE 9,154,524
HEHE 8,764,962 x 67.1% — 5,813 5,875,476
AEEEE 9,154,524 + 5,875 476 15, 030, 000
BB E TS 15, 030, 000
BRI 2,314,600 + 111, 645 2,426, 245
BEEAGE 2,314, 600
BE#ERE 111, 645
Z Ot S f 2,314,600 x 53.85% ( 35% + (1 — 35%) ) 1,246, 412
BRI 2,426,245 + 1,246,412 3,672,657
—RERESE 3,672,657 x 53.85% (35% + (1 — 35%) ) — 382 1,977,343
KBS 3,672,657 + 1,077,343 5, 650, 000
B EHEAE 15,030,000 + 5, 650, 000 20, 680, 000
HETR SR L 20, 680,000 x 10.00% 2,068, 000
FEIZRE 22,748, 000




REAR-ET/Avr—> AHAEERE S EE R RS EIRRLER

&5 . 1-1
£ AEER IEED
% g FE - BKTE BfL H = B ® B S " %
B2 F AT AR
A 2.00 48, 000. 00 96, 000
B S M
A 5.00 42, 200. 00 211, 000
B = A
A 4.00 32, 400. 00 129, 600
MM E2NOY)
% 1.00 436, 600. 00 4, 366
& B 1EZE8EH - 1. 00X 440, 966. 00 440, 966
&5 .12
% g B - BKTE BfL H = B ® B S " %
BIEHBENE
A 2.00 25, 400. 00 50, 800
S 2t1E
=] 1.50 29, 483. 00 44,2244.70H / 8H
MM E NOY)
% 1.00 95, 024. 00 950
& B 1EZ8EH ;1. 00[= 95,974.00 95,974




Rifiz -/ \v7r—o

DMFEEEEBRRESEILERS

&5 :1-3
ZF5  BBIHERE 10y Y
2 b g - BIRTE By = BHO(f %8 W = " =
BIEFEHEM
A 0.50 48, 000. 00 24,000
RIS HRER
A 1.00 42, 200. 00 42,200
BEBF
A 4.00 31, 100. 00 124, 400
EEE VPJIS K6741 ¢ 76mm
m 40. 00 606. 00 24,240
REE S4 kY 2L
B 1.00 3,318.00 3,318/2.00H / 8H
MR 2E0%
% 35.00 218, 158. 00 76, 355
& B 1YEZRES - 10.004h = 29, 451.00 294, 513
&5 :1-4
B KEEERE 10y Y
2 b g - BIRTE By = BHO(f %8 W = " =
BIEFEHEM
A 0.50 48, 000. 00 24,000
RIS HRER
A 1.00 42, 200. 00 42,200
REE S4 kY 2L
B 1.00 3,318.00 3,318/2.00H / 8H
MR 2E0%
% 5.00 69, 518. 00 3,475
& B 1YEZRES - 10. 004 = 7,299. 00 72,993




Rifiz -/ \v7r—o

DMFEEEEBRRESEILERS

&5 :1-5
L F5 . KEIEA 20thmE Y
2 b g - BIRTE By = BHO(f %8 W = " =
RIS HRER
A 1.00 42, 200. 00 42,200
Bl S H A
A 2.00 32, 400. 00 64, 800
BEBF
A 4.00 31, 100. 00 124, 400
HeRaH KEzEr (1%)
B 340. 00 615. 00 209, 100
REE S4 kY 2L
B 1.00 3,318.00 3,318/2.00H / 8H
MR 2E0%
% 10. 00 443, 818. 00 44, 381
& B 1YEZRES - 20. 004t 2 24, 409. 00 488, 199
&5 :1-6
&5 mQ) 10y Y
2 b g - BIRTE By = BHO(f %8 W = " =
BIEFEHEM
A 0.50 48, 000. 00 24,000
RIS HRER
A 1.00 42, 200. 00 42,200
BEBF
A 4.00 31, 100. 00 124, 400
REE S4 kY 2L
B 1.00 3,318.00 3,318/2.00H / 8H
MR 2E0%
% 35.00 193, 918. 00 67,871
& B 1YEZRES - 10. 004 = 26, 178. 00 261, 789




REAR-ET/Avr—> SMEEEES G R SINELS
&5 :1-1
2% KBRS RDBE =E)
2 # 1BIE - AR By % 8 B % W o= w =
B8 AR
A 0.50 48, 000. 00 24,000
R =
A 2.00 42, 200. 00 84, 400
B RER
A 3.00 32, 400. 00 97, 200
HEBHT
A 6.00 31, 100. 00 186, 600
HHE 2HE0Y%
% 3.00 392, 200. 00 11, 766
= H YEZERES ;- 1.00[E 403, 966. 00 403, 966
&S5 :1-8
G BRFEE KRR 10824 1)
2 # 1BIE - AR By % 8 B % W o= w =
B8 AR
A 0.50 48, 000. 00 24,000
R =
A 1.00 42, 200. 00 42,200
HA=BF
A 4.00 31, 100. 00 124, 400
REE S4 kN2 2L
B 1.00 3,318.00 3,318/2.00H / 8H
HHE 2HE0Y%
% 10. 00 193, 918. 00 19, 391
= H YEZERESN - 10. 003t 5 21, 330. 00 213, 309




Rifiz -/ \v7r—o

DMFEEEEBRRESEILERS

&5 :1-9
¥ KELEHERE 10y Y
2 b g - BIRTE BT H = B O %8 W = " =
BIEFEHEM
A 0.50 48, 000. 00 24,000
RIS HRER
A 1.00 42, 200. 00 42,200
REE S4 kY 2L
B 1.00 3,318.00 3,318/2.00H / 8H
MR 2E0%
% 5.00 69, 518. 00 3,475
& B 1YEZRES - 10. 004 = 7,299. 00 72,993
&5 :1-10
2 REFERE () 1HAlE 15 m Y
2 b g - BIRTE BT H = B O %8 W E " =
BIEFEHEM
A 0.50 48, 000. 00 24,000
RIS HRER
A 1.00 42, 200. 00 42,200
BEBF
A 4.00 31, 100. 00 124, 400
REE S4 kY 2L
B 1.00 3,318.00 3,318/2.00H / 8H
MR 2E0%
% 35.00 193, 918. 00 67,871
& B 1YEZRES - 15. 004 = 17, 452. 00 261, 789




Rifiz -/ \v7r—o

DMFEEEEBRRESEILERS

&5 1-11
2 REFHREQ 1tAlE 15thms Y
2 b g - BIRTE By = BHO(f %8 W = " =
BIEFEHEM
A 0.50 48, 000. 00 24,000
RIS HRER
A 1.00 42, 200. 00 42,200
BEBF
A 3.00 31, 100. 00 93, 300
REE S4 kY 2L
B 1.00 3,318.00 3,318/2.00H / 8H
MR 2E0%
% 35.00 162, 818.00 56, 986
& B 1YEZRES - 15. 004 = 14, 653. 00 219, 804
&5 :1-12
&% RESRAA0) 3B 20t m LY
2 b g - BIRTE By = BHO(f %8 W E " =
RIS HRER
A 1.00 42, 200. 00 42,200
Bl S H A
A 2.00 32, 400. 00 64, 800
BEBF
A 4.00 31, 100. 00 124, 400
HeRaH BEF GH)
B 340. 00 1,584. 00 538, 560
REE S4 kY 2L
B 1.00 3,318.00 3,318/2.00H / 8H
MR 2E0%
% 10. 00 7173, 278. 00 11,3217
& B 1YEZRES - 20. 004t 2 42, 530. 00 850, 605




Rifiz -/ \v7r—o

SIMFEEEEBRERE

EEXRT

&5 1-13
&% RESRAQ 18 20thmE Y
2 b g - BIRTE By = BHO(f %8 W = " =
RIS HRER
A 1.00 42, 200. 00 42,200
Bl S H A
A 2.00 32, 400. 00 64, 800
BEBF
A 2.00 31, 100. 00 62, 200
HeRaH BERTOHE)
B 340. 00 528. 00 179, 520
REE S4 kY 2L
B 1.00 3,318.00 3,318/2.00H / 8H
MR 2E0%
% 10. 00 352, 038. 00 35,203
& B 1YEZRES - 20. 004t 2 19, 362. 00 387, 241
&5 :1-14
&% RESAIQ) JE+HE 20t m LY
2 b g - BIRTE By = BHO(f %8 W = " =
RIS HRER
A 1.00 42, 200. 00 42,200
Bl S H A
A 2.00 32, 400. 00 64, 800
BEBF
A 4.00 31, 100. 00 124, 400
HeRaH BERT (3EA+HE)
B 340. 00 4,224.00 1,436, 160
REE S4 kY 2L
B 1.00 3,318.00 3,318/2.00H / 8H
MR 2E0%
% 10. 00 1, 670, 878. 00 167, 087
& B 1YEZRES - 20. 004t 2 91, 898. 00 1,837, 965




Rifiz -/ \v7r—o

SIMFEEEEBRERE

EEXRT

&5 :1-15
2% RESAKROEEQ) HEED
2 b g - BIRTE By = BHO(f %8 # " =
BIEFEHEM
A 1.00 48, 000. 00 48, 000
RIS HRER
A 2.00 42, 200. 00 84, 400
Bl S H A
A 3.00 32, 400. 00 97,200
BEBF
A 6. 00 31, 100. 00 186, 600
MR 2E0%
% 3.00 416, 200. 00 12, 486
& B 1YEZHEH - 1.00[E 428, 686. 00 428, 686
&5 :1-16
2% RESAKROEE(2) HEED
2 b g - BIRTE By = BHO(f %8 # " =
BIEFEHEM
A 0.50 48, 000. 00 24,000
RIS HRER
A 1.00 42, 200. 00 42,200
Bl S H A
A 1.00 32, 400. 00 32, 400
BEBF
A 4.00 31, 100. 00 124, 400
MR 2E0%
% 3.00 223, 000. 00 6, 690
& B 1YEZHER - 1.00[E 229, 690. 00 229, 690




Rifiz -/ \v7r—o

DMFEEEEBRRESEILERS

&5 . 1-17
&% BAIFHEHE0) REEH 10y Y
2 b g - BIRTE By = BHO(f %8 W = " =
BIEFEHEM
A 0.50 48, 000. 00 24,000
RIS HRER
A 1.00 42, 200. 00 42,200
BEBF
A 4.00 31, 100. 00 124, 400
REE S4 kY 2L
B 1.00 3,318.00 3,318/2.00H / 8H
MR 2E0%
% 10. 00 193, 918. 00 19, 391
& B 1YEZRES - 10. 004 = 21,330. 00 213, 309
&5 :1-18
£ BAIFHEEQ2) BEE 10y Y
2 b g - BIRTE By = BHO(f %8 W E " =
BIEFEHEM
A 0.50 48, 000. 00 24,000
RIS HRER
A 1.00 42, 200. 00 42,200
BEBF
A 3.00 31, 100. 00 93, 300
REE S4 kY 2L
B 1.00 3,318.00 3,318/2.00H / 8H
MR 2E0%
% 10. 00 162, 818. 00 16, 281
& B 1YEZRES - 10. 004 = 17,909. 00 179, 099




REAR-ET/Avr—> SMEEEES G R SINELS

&5 :1-19
£ KEL - RESA F - 7R 6ithm L)
2 b g - BIRTE BT o = B O ® W = " =
BIEFEHEM
A 0.50 48, 000. 00 24,000
Bl S H A
A 1.00 32, 400. 00 32, 400
BEBF
A 2.00 31, 100. 00 62, 200
HeRaH KL (%) . BEEH (1048)
B 102. 00 5,895.00 601, 290
REE S4 kY 2L
B 1.00 3,318.00 3,318/2.00H / 8H
MR 2E0%
% 10. 00 723, 208. 00 72,320
& B 1YE%HES : 6. 00K 132, 588. 00 795, 528
&5 :1-20
ZF5 . AR Q) 10y Y
2 b g - BIRTE BT H = B O ® W = " =
BIEFEHEM
A 0.50 48, 000. 00 24,000
RIS HRER
A 1.00 42, 200. 00 42,200
BEBF
A 4.00 31, 100. 00 124, 400
REE S4 kY 2L
B 1.00 3,318.00 3,318/2.00H / 8H
MR 2E0%
% 35.00 193, 918. 00 67,871
& B 1YEZRES - 10. 004 = 26, 178. 00 261, 789

10




REAR-ET/Avr—> SMEEEES G R SINELS
&5 1-21
2% KL - BRERAERORE @Y
2 # 1BIE - AR B B B ff % W o= w =
B8 AR
A 0.50 48, 000. 00 24,000
R =
A 1.00 42, 200. 00 42,200
B RER
A 2.00 32, 400. 00 64, 800
HA=BF
A 6.00 31, 100. 00 186, 600
HHE 2HE0Y%
% 3.00 317, 600. 00 9,528
= H YEZERES ;- 1.00[E 327,128.00 327,128
£S5 :1-22
L% BRHRSRSEE - BE Ee)
2 # 1BIE - AR B B B ff % W o= w =
REE S4 kN2 2L
B 2.00 3,318.00 6,636 2.00H / 8H
A= R FRP D 70PS%!
B 2.00 74, 249. 00 148, 498 8H
R =
A 2.00 42, 200. 00 84, 400
HERER
A 2.00 32, 400. 00 64, 800
HA=BF
A 2.00 31, 100. 00 62, 200
REWHBE
A 2.00 25, 400. 00 50, 800
HHE 2HE0Y%
% 3.00 417, 334.00 12,520
= H YEZERED 1. 00 429, 854. 00 429, 854

11




REAR-ET/Avr—> AHAEERE S EE R RS EIRRLER
&5 :1-23
L BRI 184y
2 # 1BIE - AR B B B ff % W o= w =
REE S4 kN2 2L
B 0.30 3,318.00 995/2. 00H / 8H
HEBHT
A 0.30 31, 100. 00 9,330
HHE 2HE0Y%
% 1.00 10, 325. 00 103
= H YEZERESN - 1.008 10, 428. 00 10, 428
£S5 :1-24
&% EIRG) 10824 1)
2 # 1BIE - AR B B B ff % W o= w =
B8 AR
A 0.50 48, 000. 00 24,000
R =
A 1.00 42, 200. 00 42,200
HA=BF
A 4.00 31, 100. 00 124, 400
REE S4 kN2 2L
B 1.00 3,318.00 3,318/2.00H / 8H
HHE 2HE0Y%
% 35.00 193, 918. 00 67,871
= H YEZERESN - 10. 003t 5 26, 178.00 261, 789
&5 :1-25
B RS 1084 Y
2 # 1BIE - AR SE B B B ff % W o= w =
R =
A 1.00 42, 200. 00 42,200
B RER
A 1.00 32, 400. 00 32, 400
HEBHT
A 1.00 31, 100. 00 31,100
HHE 2HE0Y%
% 1.00 105, 700. 00 1,057
= H YEZERESN - 10.008 10, 675. 00 106, 757

12




REAR-ET/Avr—> AHAEERE S EE R RS EIRRLER
&S :1-26
L R REREN Ee)
2 # 1BIE - AR B B B ff % W o= w =
EEEES: (vt BARE
B 17.00 615. 00 10, 455
= it YEZERED 1. 00K 10, 455. 00 10, 455
&5 :1-27
L% WERE 1B4Y (2.4km)
2 # 1BIE - AR B B B ff % W o= w =
REE 5S4 kN2 2L
B 1.00 3,318.00 3,318/2.00H / 8H
R =
A 1.00 42, 200. 00 42,200
HERER
A 1.00 32, 400. 00 32, 400
HA=BF
A 2.00 31, 100. 00 62, 200
HHE 2HE0Y%
% 1.00 140,118. 00 1, 401
= H E¥8EH :2.40km 58, 966. 00 141,519
£S5 :1-28
2% ERORE 100HHFE X Y
2 # 1BIE - AR Bif B B ff % W o= w =
B8 AR
A 1.00 48, 000. 00 48,000
R =
A 3.00 42, 200. 00 126, 600
HIERER
A 6.00 32, 400. 00 194, 400
HA=BF
A 7.00 31, 100. 00 217,700
HHE 2HE0Y%
% 1.00 586, 700. 00 5,867
= H YEZERES ;- 100. 004 MR 5,925.00 592, 567

13




KT -FEIT/ SNV —2 SIMEEEEEEFEELEIDERE
&5 :1-29
& BHUAERE Tkm# Y (1km)
2 b g - BIRTE By = BHO(f %8 W = " =
BIEFEHEM
A 0.50 48, 000. 00 24,000
RIS HRER
A 0.50 42, 200. 00 21,100
Bl S H A
A 1.00 32, 400. 00 32, 400
BEBF
A 3.00 31, 100. 00 93, 300
HeRaH BE (%)
B 4.00 528. 00 2,112
HAREH RKT-GPS
B 4.00 53, 400. 00 213, 600
REE S4 kY 2L
B 4.00 3,318.00 13,272 2.00H / 8H
MR 2E0%
% 20.00 399, 784. 00 79, 956
& B 1E%HBEH :1.00km 479, 740. 00 479, 740
&5 :1-30
&% BHUMBEREKROERE HEED)
2 b g - BIRTE By = BHoO(f %8 W E " =
BIEFEHEM
A 0.50 48, 000. 00 24,000
RIS HRER
A 1.00 42, 200. 00 42,200
Bl S H A
A 1.00 32, 400. 00 32, 400
BEBF
A 3.00 31, 100. 00 93, 300
MR 2E0%
% 3.00 191, 900. 00 5, 157
& B 1YEZHER - 1.00[E 197, 657. 00 197, 657

14




REAR-ET/Avr—> AHAEERE S EE R RS EIRRLER
&5 1-31
&% ;7R () ASY (10#5)
2 s 1BIE - AR By % 8 B ff # W = w =
R =
A 1.00 42, 200. 00 42,200
HIERER
A 1.00 32, 400. 00 32, 400
HA=BF
A 2.00 31, 100. 00 62, 200
REE S4 kN2 2L
B 1.00 3,318.00 3,318/2.00H / 8H
HAH tERER
% 5.00 140,118. 00 7,005
= H YEZERESD ;- 10. 003t 5 14,712.00 147,123
£S5 :1-32
LF . BELER EE)
2 s 1BIE - AR By % 8 B ff # W = w =
HERER
A 0.50 32, 400. 00 16, 200
REE S4 kN2 2L
B 0.50 6,519. 00 3,259 6.00H / 8H
= H YEZERED 1. 00 19, 459. 00 19, 459
&5 :1-33
2 s 1BIE - AR SE B % 2 B ff # W= w =
HE (550 AR R
= 5.00 8, 700. 00 43, 500
= it YEZERED 1. 00 43, 500. 00 43, 500

15




Rifiz -/ \v7r—o

DMFEEEEBRRESEILERS

&5 :1-34
L FK 1Hhm %Y (6i#he)
2 b g - BIRTE BT H = B O %8 W = " =
REE S4 kY 2L
B 0.50 3,318.00 1,659/2.00H / 8H
BIEf FRP D 70PSZE!
B 0.50 74, 249.00 37,124 8H
RIS HRER
A 0.50 42, 200. 00 21,100
Bl S H A
A 0.50 32, 400. 00 16, 200
BEBF
A 1.00 31, 100. 00 31,100
MR TEHRAER
% 2.00 107, 183.00 2,143
& B 1YE%HES : 6. 00K 18,221.00 109, 326
&5 :1-35
&5 . ELERR 1LY
2 b g - BIRTE BT H = B O 25 W = " =
Bl S H A
A 0.50 32, 400. 00 16, 200
REE S4 kY 2L
B 0.50 6,519. 00 3,259/6.00H / 8H
& B 1E%HeH - 1.00K 19, 459. 00 19, 459

16




REAR-ET/Avr—> AHAEERE S EE R RS EIRRLER

&5 . 1-36
25 PR
£ b L - BIRTiE BAf H = B & % W = " =

KB

B®IK 12.00 382.00 4, 584
K& (51487)

B®IK 12.00 427.00 5 124
1B (BEREER)

B®IK 12.00 720. 00 8, 640
BHE (BHRE)

B®IK 6.00 425.00 2,550
KFAAVEE (pH)

B®IK 12.00 517.00 6, 204
BEMEzE= (D0)

B®IK 12.00 1, 750. 00 21,000
L2MEERERE (CDO)

B®IK 12.00 2,470.00 29, 640
FWEME (SS)

B®IK 12.00 1,710.00 20, 520
RGEHEY (RERE

B®IK 12.00 3,420.00 41, 040
22% (T-N) nE 5 #EE)

B®IK 12.00 3,190. 00 38, 280
£1) > (T-P)

B®IK 12.00 2,740.00 32, 880
n-AHUIH B E

B®IK 6.00 3, 700. 00 22,200
& Hi 1E%HeH - 1.00K 232, 662. 00 232, 662

17




REAR-ET/Avr—> AHAEERE S EE R RS EIRRLER
&5 :1-37
& ;1R (2) AN Y (63 )
2 s 1BIE - AR By % 8 B ff # W = w =
REE S4 kN2 2L
B 0.50 3,318.00 1,659/2.00H / 8H
A= R FRP D 70PSZ!
B 0.50 74, 249. 00 37,124 |8H
R
A 0.50 42, 200. 00 21,100
B RER
A 0.50 32, 400. 00 16, 200
HA=BF
A 1.00 31, 100. 00 31,100
HAH tERER
% 2.00 107, 183. 00 2,143
= H YEZERESD : 6. 003t = 18,221.00 109, 326
&5 :1-38
LF . BELER EE)
2 s 1BIE - AR By % 8 B ff # W= w =
HERER
A 0.50 32, 400. 00 16, 200
REE S4 kN2 2L
B 0.50 6,519. 00 3,259 6.00H / 8H
= H YEZERED 1. 00 19, 459. 00 19, 459
&5 :1-39
2 s 1BIE - AR SE B % 2 B ff # W= w =
HE (550 AR R
= 6.00 8, 700. 00 52, 200
HWEHE (1-L)
®iK 6.00 2,750. 00 16, 500
L2 REERERE (CD0)
®iK 6.00 3, 650. 00 21,900
B (1-5)
®iK 6.00 3, 800. 00 22,800
= it YEZERED 1. 00K 113, 400. 00 113, 400

18




REAR-ET/Avr—> AHAEERE S EE R RS EIRRLER
&5 1-40
L HRE GRE LN EE)
2 s 1BIE - AR B B B ff % 1 w =
b3t |
= 1.00 47,018.00 47,018
= H YEZERED 1. 00K 47,018.00 47,018
&5 . 2-1
&% BET— 8 QINERE EE)
2 s 1BIE - AR B B B ff % 1 w =
H®EF (A)
A 6.00 51, 200. 00 307, 200
H®EF (C)
A 4.00 32, 800. 00 131, 200
EBRARE 2HE0Y%
% 3.00 438, 400. 00 13,152
= it YEZERED 1. 00 451, 552. 00 451, 552
B55:2-2
LF  MAREROBERN EE)
2 s 1BIE - AR Bif B B ff % 1 w =
EX 1)
A 1.00 58, 600. 00 58, 600
®EF (A)
A 6.00 51, 200. 00 307, 200
HEm (B)
A 6.00 41, 600. 00 249, 600
H®EF (C)
A 7.00 32, 800. 00 229, 600
®iia
A 10. 00 29, 000. 00 290, 000
EBRARE 2HE0Y%
% 6.00 1, 135, 000. 00 68, 100
= H YEZERED 1. 00 1, 203, 100. 00 1,203, 100

19




KT -FEIT/ SNV —2 SIMEEEEEEFEELEIDERE
&5 :2-3
B E=A4 ) UV ABEORE 1LY
2 b g - BIRTE By = BHO(f %8 # " =
FEHRAR (F%ET)
A 1.00 58, 600. 00 58, 600
AR (A)
A 1.00 51, 200. 00 51,200
e (B)
A 2.50 41, 600. 00 104, 000
AR (C)
A 2.50 32, 800. 00 82,000
g
A 1.50 29, 000. 00 43, 500
EXERARE 2E0%
% 1.00 339, 300. 00 3,393
& B 1E%HeH - 1.00K 342, 693. 00 342, 693
&5 :2-4
25 MESERK 1LY
2 b g - BIRTE By = BHO(f %8 # " =
F{EHRAR (F%ET)
A 1.50 58, 600. 00 87,900
AR (A)
A 2.50 51, 200. 00 128, 000
e (B)
A 2.50 41, 600. 00 104, 000
AR (C)
A 2.50 32, 800. 00 82,000
& Hi 1E%HeH - 1.00K 401, 900. 00 401, 900
&5 :2-5
2% EBHRRA 1LY
2 b g - BIRTE By = BHoO(f %8 # " =
EBHRERERE
= 1.00 217,000. 00 217,000
& Hi 1E%HeH - 1.00K 217,000. 00 217,000

20




SMEERERBFREZEILERS

No.

BRE - BIRTE

Bifs

R (H)

K {fiNo.

Rt R % 7

HRAERIRE - BKTiE

1-1

AR

29, 483

4.70H / 8H

WA E

1-2

S4 kN2 2L

3,318

2.00H / 8H

BAFERE

KELEHERE

IR &R A

)

HAIFHEE

Kz Et

KELEHEE

BEERE 1)

1 R3E

BERTERE (2)

1 R1E

TR (1)

3fE

BERRAN(Q2)

/&

R Q)

3fE+0fE

BAFHEE O

B

BAEFEE Q)

R

KEL - BRERE (K -V AR

RIR(2)

AHBRHRRE - BE

& iR SRR

RE&RQ)

W E R E

BHUERE

1-3

REM

FRP D 70PSZY

14, 249

8H

AR REREE - BE

K

R )

Z4 b2

3,318

2.00H / 8H

%Ik (1)

K




SHAFEEREEBREERLERERK
Hifik—&
1-37 ik (2)
. = 1-32 | S EHERK
1-5 R\BE Sq bRy 2L 6 510l 6. 00H / 8
1-35 FBHER
1-38 | S HHERK




i SHUEEEESELERLBILELE
HERES 11
BHEEREH: bSvy 2tFE 4.70H / 8H
% # 18 - kA Bifi N B @ #riﬁ % =
&
L 20.00 143. 00 2,860
BEFE (—H)
A 1.00 22, 600. 00 22, 600
B (F5 o (BER]) 2tk
BFfE 4.70 248.00 1,165 EERFAE
B (F5 o (BER]) 2tk
H 1.13 2,530. 00 2,858 #AA
& &t 29, 483
BERES : 1-2
BiikeM: XBE 4 kv 2L 1B%Y 2.00H / 8H
% # 18 - kA Bifi N B @ #riﬁ % =
AU
L 6.00 157.00 942
B (54 RS [CHEH) RETASE HRE2 0
BFfE 2.00 290. 00 580 EERFAE
B (54 RS [CHEH) RETASE HRE2 0
=] 1.19 1,510. 00 1,796 #AA

& &

3,318




=2 R iy SHAEEREEESEEZEBILEES
Bii&RES : 1-3
Bi{fiZk& % : A=/ FRP D 70PSEY 1A%y 8H
£ L] B - T Bifiy = B ) i) " %
A
L 44.00 98.00 4,312
=ik E
A 1.20 28, 700. 00 34,440 B=1.20
#B# (GEMFRPE]) D 70PSE 3.0GT
H 1.00 3, 200. 00 3,200 PEL =]
#B# (GEMFRPE]) D 70PSE 3.0GT
H 1.65 3, 350. 00 5,527 a=1.65 #Ee
RiGEEE
% 25. 36 47,479. 00 12, 040
—RERE
% 24.75 59, 519. 00 14,730
& &t 74, 249
Bi&RES : 1-4
BfiRAH : 3XBE T4 b2 2L 2.00H / 8H
£ L] B - T Bifiy = B ) i) " %
Ay
L 6.00 157.00 942
B (54 AU [ZEREEE]) REFEIE Hx=22.0L
BFfE 2.00 290. 00 580 EERFAE
BE (54 MU [ZEHEEE]) REFEIE Hx=22.0L
=] 1.19 1,510. 00 1,796 #AA
& & 3,318
Bii&RES : 1-5
BHfiRAH  3@BE T4 b2 2L 1B%Y 6.00H / 8H
£ L] B - T Bifiy = B ) i) " %
Ay
L 19.00 157.00 2,983
B (54 AU [ZEREEE]) REFEIE Hx=22.0L
BFfE 6.00 290. 00 1,740 EERFAE
BE (54 MU [ZEHEEE]) REFEIE Hx=22.0L
H 1.19 1,510. 00 1,796 #AA

& &

6,519




